7.2 Verifying Solutions
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|CF or each differential equation, find the particular solution that passes through the given point.
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| Find the value of k of each equation that would be a solution to the given differential equation.
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7.2 Verifying Solutions Test Prep

11. Ofthe following, which are solutions to the differential equation y'" — 5y’ + 4y =0
I. y=>5cos(2x)
. y=2e*
III. y=Ce*, where C is a constant.
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12. Consider the differential equation % = (y — 4)3sin (nz—x) There is a horizontal line with equation y = c that

satisfies this differential equation. Find the value of c.

y = 4. A horizontal line exists only if the slope (derivative) is zero.
This differential equation will equal zero when y = 4.




